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QUESTION 1

A client with five data centers spread around the country uses MPLS L2VPNs to provide point-to-point data center
Interconnects between each data center in a full-mesh network. The client is considering an MPLS EVPN
implementation.

In this scenario, what are three advantages of using MPLS EVPN interconnects? (Choose three.)

A. They provide for static configuration that does not require a Dynamic Routing Protocol.

B. They provide for lower transmission latency.

C. They provide for a local proxy ARP/ND resolution.

D. They provide for point-to-multipoint connectivity.

E. They provide for MAC learning in the control plane.

Correct Answer: CDE

QUESTION 2

Devices spinel and spine2 have been configured as distributed Layer 3 gateways in the VXLAN topology, and devices
leafl and leaf3 have been configured as Layer 2 gateways. Device hostl must be able to communicate with device
host2.

spinel spinel
T > e
{master:0} [edit] € IP Fabric € {master:0)} [edit]
user@leafl$# show vlans user@leaf3# show wvlans
w100 { v200 {
vlan-id 100; ! vlan-id 200;
vxlan { vxlan {
vni 5100; vni 5200;
1 }
} ]
— R
b K — P
—F —3
leafl |€—— —— | leaf3
VLAN ID 100 VLANID 200
hostl host2
10.1.1.1/24 10.1.1.2/24

Referring to the exhibit, which two statements are true? (Choose two.)
A. An IRB interface must be configured on devices leafl and leaf2.

B. Traffic from hostl to host2 will transit the VXLAN tunnel from leafl to leaf3.
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C. Traffic from hostl to host2 will transit a VXLAN tunnel to spinel or spine2, then a VXLAN tunnel from spinel or
spine2 to leaf3.

D. An IRS interface must be configured on devices spinel and spine2.

Correct Answer: CD

QUESTION 3

You work in a data center where VMs and hosts are frequently moved. Your design needs to eliminate inefficient traffic
flows.

In this scenario, which two solutions will satisfy this requirement? (Choose two.)
A. VXLAN

B. EVPN

C. VMTO

D. VPLS

Correct Answer:. AB

QUESTION 4

You are asked to manage the oversubscription ratio of your spine and leaf IP fabric. You determine that you are at a 3:1
ratio of downstream to upstream traffic and must achieve a 1:1 ratio.

In this scenario, which two actions would you take to achieve this goal? (Choose two.)
A. Increase the number of server-facing ports that each leaf node uses to carry traffic.
B. Reduce the number of server-facing ports that each leaf node uses to carry traffic.
C. Increase the number of spine nodes in your design.

D. Reduce the number of leaf nodes in your design.

Correct Answer: BC

QUESTION 5

You are building a new IP fabric data center underlay network and want to ensure predictable load-balancing behavior
for traffic traversing the fabric.

What are two approaches you should take to satisfy the requirement in this scenario? (Choose two.)
A. Ensure that all uplinks are 40GbE.

B. Ensure that every leaf node has a link to every other leaf node.
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C. Ensure that every leaf node has an uplink to every spine node.
D. Ensure that all spine devices are the same switch model.

Correct Answer: CD
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